Algebra 1 (CP) Name K EY

Final Exam Review #2 (Chapters 9-10) Date

EXTRA CREDIT - Must clearly show work. Get correct answers.
2 HW grades for odds and 2 HW grades for evens.
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Sketch the graph of each function. Clearly mark 5 points. Label the axis of symmetry, vertex,
and y-intercept.

1) y=x2—4x+3 =\ H=-Y C);% 12) y=—x2+8X—12 @6:% C=-\2

Ay .

AN ]
NP
! B as ':/—- (4 'q
L | , I\'
- j : Ml [

N 9" W
vy
Veriex, (a,-—"lﬁ_\
%’(9)?"_'1 (2)+3=—]
13)y=—x2—4x—7@6——-‘{ C =
T T A dells Hhe shepe
/\< a8 EEEE \ R e
V, B f *ﬁ‘ — — A = o©penS
é ..fex B { . - d'-OWN
(’xq) / \ L
/“3,)2{' T * W
\/. _ 4 _{& wii C— f 5 +h€. 7’ ;\/ﬁ-e{mza'r
A (0/ C-)
z‘:’/\/ Axis oF S‘I/hme,ﬁﬂj
e X= =2
As X—:_e_— _:L Y=-2 ""'L/ -+ S .
za = 2(-9 -3 |-49 Lreode. o Febole o
vV 2 3 0 5veloes L ik Hae
~11-4€ Verdex 1A Fhe

o “:f-' a Mmidd\e



Solve Quadratic Function by graphing. Sketch the graph of each function. Clearly mark 5
points. Determine solutions by marking with an "X" or stating '""No Solution."
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Solve each equation with the quadratic formula. Round soultions to 2 decimals.
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CHAPTER 10. Name each polynomial by degree and number of terms.
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Simplify each difference. Write in standard form.
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Find each product Write in standard form.
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Find each product Write in standard form.
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